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(1)b — 2 # 0, Blb+#28%, HEEEIFIZHATHE,
B 1 2 3Z&5%kW;

(2)b—2=0, Blb=28%, HEHHIZEERE,
H 1 o 3253k
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b = 2Ha # 18}, HNHFZEEM—E, B L
H 1, o sHE—HZ%5RE.
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b =2Ha # 18}, HHNGIZHEAEME—#, B "TIL
B 1 o sHE—HZ%S5RE.
XBf, =(-1) 1+2 2+0 3;
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b =2Ha # 1it, HNAZEEH—RE, B ATLL
B o o sME—RIZ%S5RE.

XBf, =(-1) 1+2 2+0 3;

b =2Ha = 1it, HNAZEELF LM, B 7L
B 1 o skEBFEMESEREAR.
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b = 2Ha # 18}, HNHFZEEM—E, B L
H 1, o sHE—HZ%5RE.

XBf, =(-1) 1+2 2+0 3;

b =2Ba = 18, HNAEEBARLSZHE, B AL

B 1 2 sEBFZMESRERN.
XBf, =(-1-2x3) 1+(2+X3) 2+X3 3, Ebxs2lE
=t
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Thank you!
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